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L Sk MEpAU= XY a>0,8>0,
) LXfY 2 BR 2C (5%)
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©) A X Ao Y 2 M2 M R B i (5%)
d) 1699 1 MR 4 X, £ (MRS) A F k& (5%)

2. A two-product firm faces the demand and cost functions below:
Q, =40-2p, -p,, Q, =35-P,-P,, C=Q/+2Qi+10
a) Find the output levels (use fractions), (5%)
b) What is the maximal profit? (5%)

JHBHAAKS U=XY WARMAL PX+PY =1 K 1 Rm#4P, #aP, % X
RY ZM$. _
) $HERIRX,Y" . (5%) e
b) $ditk Hicks 22 M Xtk Y 2 £ MMM & £ 8 4t (5%) ‘, o
©) #HFMBEAR (MRS). (5%) o

d) #4 X «tm%#ﬁmpﬂ#m (5%)
¢

4. Monopolistic firm has the specific average revenue functions
P =63-4Q, + P, =105~ 5Q, * Py=75-6Q, and that the total-cost function is

C=20+15Q, Calculate the point elasticity of demand lealfor 1=1,23. (1 0%)
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5. Given the following model:

Y=C+1,+G, C=a+b(Y-T) (a>00<b<l) [T;taxes]
T=d+tY (d>00<t<l) [t:income tax rate]

a)Find Y, T,andC. (5%)

aY aY ayY
b)Find —, —, and —. (10%
) aG, " ad a (10%)
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HREM: C=80+07Y, Y, T & &

{HELH B 1=25040.1Y-10r Y: B 4% T BAE
. ARAM  T=300+02Y . B AH  G=1290

EHEKEELBHD : m® =04Y-80r

Z8 NN E M =2400 hiR:P=2

a) R it IS M LM dh s ot o (5%)
byst KM - HBRERAR - (5%)
CYIR A BRAS 54 HOAT & 1 30 ho 88 314 B AR BOGHAH BR ARE - (5%)
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7. ML
a) 8 4&# F & (paradox of thrift) (2%)
b) 4t 4 & A8 A 4 (supply-side economics) (2%)
c) 1K M5k (inflation tax) (2%)
d) K %7 &4 dt #)(Lucas’ critipue) (2%)
¢) potential GDP (2%)




